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Estimating Multiplication w/Decimals Name:
Usethe decimal placement to estimate the product. Answers
1) 2.894x0.2=
A.0.5788 B. 0.0058 C.5.7880 .0.0579 1
2.
2) 1.81x0.8=
A.0.014 B. 0.145 C. 1.448 . 144.800 3
3) 39x047= 4.
A.0.183 B. 18.330 C. 1.833 .0.018
5.
4) 42x0717=
A. 30.1140 B. 0.0301 C.0.3011 .3.0114 6.
7.
5 6.7x094=
A.0.630 B. 62.980 C.0.063 . 6.298 8.
6) 9.63x0.6= 9.
A.0.578 B. 577.800 C.5.778 . 0.058
10.
7) 047x51=
A.23.970 B. 0.024 C.2.397 .0.240 t
12.
8) 04x9.75=
A.3.900 B. 0.039 C. 390.000 .0.390
9) 5.3x7.456=
A. 395.1680 B. 39.5168 C. 3,951.6800 . 3.9517
10) 2.6x2.735=
A.7.1110 B. 0.0711 C. 711.1000 . 71.1100
11) 5583x0.9=
A. 5.0247 B. 0.5025 C. 50.2470 . 0.0502
12) 0.434x8.12=
A. 352.40800 B. 0.35241 C. 35.24080 . 3.52408
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Estimating Multiplication w/Decimals Name. Answer Key
Usethe decimal placement to estimate the product. Answers
1) 2.894x02=
A.0.5788 B. 0.0058 C. 5.7880 . 0.0579 1 A
2. C
2) 1.81x08=
A.0.014 B. 0.145 C. 1.448 . 144.800 3 C
3) 3.9x047= s D
A.0.183 B. 18.330 C.1.833 .0.018
5. D
4) 42x0.717= C
A. 30.1140 B. 0.0301 C.0.3011 .3.0114 6.
7 C
5 6.7x094=
A.0.630 B. 62.980 C. 0.063 . 6.298 8. A
6) 9.63%0.6= oo B
A. 0578 B. 577.800 C.5.778 . 0.058
0. A
7) 047%x51= A
A.23.970 B. 0.024 C.2.397 .0.240 t
. D
8) 04x975=
A.3.900 B. 0.039 C. 390.000 . 0.390
9) 53x7.456=
A. 395.1680 B. 39.5168 C. 3,951.6800 . 3.9517
10) 2.6x2735=
A.7.1110 B. 0.0711 C. 711.1000 . 71.1100
11) 5583x0.9=
A.5.0247 B. 0.5025 C. 50.2470 . 0.0502
12) 0434x8.12=
A. 352.40800 B. 0.35241 C. 35.24080 . 3.52408
1-10 | 92|83 75|67 [58[50] 4233|2517 |

[ M ath ] www.CommonCoreSheets.com

11-12




	Worksheet
	Answer Key

